Malewghce A — 10/12/15

OO = :
fl)= § DT "
N -4 N <o
+2-H

“Douuis eéff : %R\ny*/'/?{ se a< 0
]€\§_4/:,2,a§ Se,. A0
})Uei Pud el dowsiio esclive O G £ € culin
K O -






@ noax L\ eSO

ﬂﬂ°< qﬁl

x(le C

@ﬂaulfn‘a: Se cPo /ﬁ

se ¢cLo (280 ;—Ef
)V&péﬂf( #0 olel  dowern's e f Z cocv/\‘oma )
:‘,7“ O : /&W #[’Z\ = —+ oo

a9 "

(o ritauanle Yabe 4o 4 non T ot in O _

N <O




@ né(anz >
j- o,

e N

rbowiw‘o: K \Q“i}_

Sek down'd’o, gychmo A ta 7/5 Coo»A/nuq\

’ atz. l
w  FN= “@r%(ﬂ:fh): 7

>4+

e& ’{ 2 cowlw'tvmq im A sk =z sho S«




AREIW)
X

{

i

2




@ o n2> =2
#ﬂt\—. {
A +h a<-—a
jﬁ 0({@(4/#0. <0 ,y«\ a> 0 (4 "1\9’( Cono
drwgmio = R’
je Confoua +'\)Qu,u.€¢€\e An X =—-2 N —2

b A0 = @ he ) - -2

n>-9" n—=>-—2



4 conbmue = | - Q_(_Q”z,_

#) T S
;r(’)t): -3‘-(?')(2—(-20> —\l L& 42
(@2 —b}cf A2

QOW/MO @ Cou%/nm 7/mhhﬂ w‘é /n —1 e—?
’ﬂu —| '&v\_ $(z)= B_Q—HQ D 12y =3









24?\/‘*(0{\ rot ol

%29!2—4—’3’14-{:0 {(27(4-/)(7*"):‘0 7~ ~1

x <o * <0 ¢ X==3
2%%-32 +\ =z o (22 —1)(F—1D =2 7=e
ol R ot

&u« :f[x) = 4+ o j/{w 4’(”‘) = -

x> -1" A -4+
Lo 4/%) < — 00 ’é"”\ 1{/”) +
N= _1- ()1-—3—1 M



RN D ;-e
= -9
al b A
’ 4(2) T ad 17
1=
A=)

‘[Al 0 \L . 7'

N>~
L DH—o0

< (4‘0>
Pa& '{’“ (Or0> / (Z("/g),






